11A4

88 (%)

mB 414X
=t AN 6 =2F 5kg & kg 900 EiE
= g DAY 12 =F 5kg i kg 850 EiE
= g A 8E aF 5kg i kg 800 EiE
= g DAY 102 =F 5kg i kg 700 EiE
12 52/55% FE 4kg & kg 900
mnsa 152 =F 2kg 5 kg | 1,800
MmNA 162 B2F 2kg 5= kg | 1,500
msa 358 =F 4kg i kg | 1,300
MNA 38 EE 4kg 5= kg | 1,300
7Y 8/9kg itiEE 1A i ke | 4,000 R M EFEX
1) 7/8kg dtiEE 1A & ke | 2,000 EE
75Y 2B dbiEE | 10/12kg 5 kg | 1,400 EiE
754 3B dbimE | 10/13kg a kg | 1,100 EE
754 2E S 10/11kg 8 kg 800 EiE
ES<Y 4 =41 9/10kg ] kg | 1,400 KR EE
ES<Y 2E ois 4/5kefi & ke | 1,500
HYIA 4kg =i 1A 8 kg | 1,600 8 HE8
H3F 5/6E all #94kg #a kg | 1,100 EiE
5 2kgE a5 1A #a kg | 2,200 EE
TH 1.5/2kg B 1A bS] kg | 4,000 TE FE~
EfEJ—L 6/8A $I3% 5kg 5 kg | 1,600
£BhF¥/\vY =81 120g P P 700
= 50/100g X5 & kg | 3,200
<TH BER 200g P P | 1,250
=PA%S=! 40/60g [1T]m] & kg | 2,600
ENqB 20/30g =F & kg | 1,900
HILE 300/450¢g gl & kg | 6,000
HyJR 30/50g tiEE & kg | 3,300
i ! 400/450g | EBAER & kg | 2,900
258F B tiEE 500g P P | 6,800
258F i dtiEE 500g P P | 5500
2Z8F it dbiEE 500g P P | 3,600




